

# REAL RANK ESTIMATE BY HEREDITARY $C^*$ -SUBALGEBRAS BY PROJECTIONS

TAKAHIRO SUDO

(Dedicated to the memory of Gert K. Pedersen)

## Abstract

In this paper we estimate the real rank of  $C^*$ -algebras by that of their hereditary  $C^*$ -subalgebras by projections.

## 0. Introduction

We first recall that a  $C^*$ -subalgebra  $\mathfrak{B}$  of a  $C^*$ -algebra  $\mathfrak{A}$  is hereditary if for any positive elements  $a \in \mathfrak{A}$ ,  $b \in \mathfrak{B}$ , the inequality (or order)  $a \leq b$  implies  $a \in \mathfrak{B}$ . Any closed ideal of a  $C^*$ -algebra is a hereditary  $C^*$ -subalgebra. If  $\mathfrak{B}$  is a separable hereditary  $C^*$ -subalgebra of a  $C^*$ -algebra  $\mathfrak{A}$ , then there exists a positive element  $a \in \mathfrak{B}$  such that  $\mathfrak{B}$  is  $a\mathfrak{A}a$  (the closure of the set of all the elements  $axa$  for  $x \in \mathfrak{A}$ ). Also, the  $C^*$ -subalgebra  $a\mathfrak{A}a$  generated by a positive element  $a \in \mathfrak{A}$  is always hereditary. We say that  $p\mathfrak{A}p$  for  $p$  a projection of  $\mathfrak{A}$  (or the multiplier algebra of  $\mathfrak{A}$ ) is a hereditary  $C^*$ -subalgebra by a projection  $p$ . See [6] or [8] for more details about hereditary  $C^*$ -subalgebras.

Next recall that a unital  $C^*$ -algebra  $\mathfrak{A}$  has real rank  $\leq n$ , denoted by  $\text{RR}(\mathfrak{A}) \leq n$ , if any  $(x_j)_{j=0}^n \in \mathfrak{A}^{n+1}$  with  $x_j = x_j^*$  ( $0 \leq j \leq n$ ) can be approximated by elements  $(y_j)_{j=0}^n \in \mathfrak{A}^{n+1}$  with  $y_j = y_j^*$  ( $0 \leq j \leq n$ ) such that  $\sum_{j=0}^n y_j^2$  is invertible in  $\mathfrak{A}$ . For a non-unital  $C^*$ -algebra  $\mathfrak{A}$ , we set  $\text{RR}(\mathfrak{A}) = \text{RR}(\mathfrak{A}^+)$ , where  $\mathfrak{A}^+$  is the unitization of  $\mathfrak{A}$  by  $\mathbf{C}$ . Similarly, a  $C^*$ -algebra  $\mathfrak{A}$  has stable rank  $\leq n$ , denoted by  $\text{sr}(\mathfrak{A}) \leq n$ , by considering  $(x_j)_{j=1}^n$ ,  $(y_j)_{j=1}^n \in \mathfrak{A}^n$  without the assumption for them to be self-adjoint. By definition,  $\text{RR}(\mathfrak{A}) \in \{0, 1, 2, \dots, \infty\}$  and  $\text{sr}(\mathfrak{A}) \in \{1, 2, \dots, \infty\}$ , where if there are no such integers  $n$  above, we just set  $\text{RR}(\mathfrak{A}) = \infty$  and  $\text{sr}(\mathfrak{A}) = \infty$ . See Brown-Pedersen [4] and Rieffel [9] for more details about the ranks. See also [2] and [10].

As the title shows, in this paper we consider the real rank estimate of  $C^*$ -algebras by their hereditary  $C^*$ -subalgebras by projections. It has been

known by [4, Theorem 2.5] that  $\text{RR}(\mathfrak{A}) = 0$  for a  $C^*$ -algebra  $\mathfrak{A}$  if and only if  $\text{RR}(p\mathfrak{A}p) = 0$  and  $\text{RR}((1-p)\mathfrak{A}(1-p)) = 0$  for  $p$  a projection of the multiplier algebra of  $\mathfrak{A}$ . Thus, our interest here is whether or not the estimate exists in the case of higher real ranks.

## 1. Main results

Based on the idea of [4, Theorem 2.5], we first obtain the following:

**THEOREM 1.1.** *Let  $\mathfrak{A}$  be a unital  $C^*$ -algebra and  $p \in \mathfrak{A}$  a projection. Then*

$$\text{RR}(\mathfrak{A}) \leq \max\{\text{RR}(p\mathfrak{A}p), \text{RR}((1-p)\mathfrak{A}(1-p))\}.$$

**PROOF.** Suppose that

$$\max\{\text{RR}(p\mathfrak{A}p), \text{RR}((1-p)\mathfrak{A}(1-p))\} = n < \infty.$$

If the maximum is infinite, the estimate in the statement is automatic. Let  $(x_j)_{j=0}^n \in \mathfrak{A}^{n+1}$  with  $x_j = x_j^*$  ( $0 \leq j \leq n$ ). Then we may view  $x_j$  ( $0 \leq j \leq n$ ) as the following matrix:

$$x_j = \begin{pmatrix} a_j & c_j \\ c_j^* & b_j \end{pmatrix}$$

for  $a_j = px_jp \in p\mathfrak{A}p$ ,  $b_j = (1-p)x_j(1-p) \in (1-p)\mathfrak{A}(1-p)$  and  $c_j = px_j(1-p)$  and  $c_j^* = (1-p)x_jp$ . Then we have

$$\begin{aligned} x_0^2 + x_1^2 + \cdots + x_n^2 &= \begin{pmatrix} \sum_{j=0}^n a_j^2 + \sum_{j=0}^n c_j c_j^* & \sum_{j=0}^n (a_j c_j + c_j b_j) \\ \sum_{j=0}^n (c_j^* a_j + b_j c_j^*) & \sum_{j=0}^n b_j^2 + \sum_{j=0}^n c_j^* c_j \end{pmatrix} \\ &\equiv \begin{pmatrix} A & C \\ C^* & B \end{pmatrix} \end{aligned}$$

Since  $\text{RR}((1-p)\mathfrak{A}(1-p)) \leq n$ , there exists  $(b'_j) \in ((1-p)\mathfrak{A}(1-p))^{n+1}$  such that  $b'_j = (b'_j)^*$ ,  $\|b_j - b'_j\| < \varepsilon$  for  $0 \leq j \leq n$ , and  $\sum_{j=0}^n (b'_j)^2$  and therefore also  $\sum_{j=0}^n (b'_j)^2 + \sum_{j=0}^n c_j^* c_j$  are invertible in  $(1-p)\mathfrak{A}(1-p)$ . Thus, we may assume that  $B$  is invertible in  $(1-p)\mathfrak{A}(1-p)$  in the matrix above. Then we note that

$$(1) \quad \begin{pmatrix} A & C \\ C^* & B \end{pmatrix} = \begin{pmatrix} p & CB^{-1} \\ 0 & 1-p \end{pmatrix} \begin{pmatrix} A - CB^{-1}C^* & 0 \\ 0 & B \end{pmatrix} \begin{pmatrix} p & 0 \\ B^{-1}C^* & 1-p \end{pmatrix}$$

(cf. [4, Lemma 2.3]). Hence the left hand side is invertible if and only if  $A - CB^{-1}C^*$  is invertible in  $p\mathfrak{A}p$ .

Since  $\text{RR}(p\mathfrak{A}p) \leq n$ , there exists  $(a'_j) \in (p\mathfrak{A}p)^{n+1}$  such that  $a'_j = (a'_j)^*$ ,  $\|a_j - a'_j\| < \varepsilon$  for  $0 \leq j \leq n$ , and  $\sum_{j=0}^n (a'_j)^2$  and therefore also  $\sum_{j=0}^n (a'_j)^2 + \sum_{j=0}^n c_j c_j^* - CB^{-1}C^*$  are invertible in  $p\mathfrak{A}p$ . (The proof in [4] can be used, however that is not at all clear. In [4, Theorem 2.5] they approximate  $a - cb_0^{-1}c^*$  with an invertible element (and not  $a$ ), and it is not clear that this can be done in a similar way for the case where the real rank  $n$ . Thus, we give another proof for this tricky argument below). Therefore, by using  $(a'_j)$  and  $(b'_j)$  above, the element  $(x_j) \in \mathfrak{A}^{n+1}$  is approximated by  $(x'_j) \in \mathfrak{A}^{n+1}$  with  $x'_j = (x'_j)^*$  such that

$$x'_j = \begin{pmatrix} a'_j & c_j \\ c_j^* & b'_j \end{pmatrix}$$

and  $\sum_{j=0}^n (x'_j)^2$  is invertible in  $\mathfrak{A}$ .

Let us start to prove the conclusion above by another way using the setting above. First note that  $\sum_{j=0}^n (x'_j)^2$  is invertible in  $\mathfrak{A}$  if and only if there exists  $(l_j) \in \mathfrak{A}^{n+1}$  such that  $\sum_{j=0}^n l_j x'_j = 1$  in  $\mathfrak{A}$  (or invertible in  $\mathfrak{A}$ ). This is a standard (but nontrivial) fact (see [4, Introduction] or [5, Introduction]). Since  $\text{RR}(p\mathfrak{A}p) \leq n$ , there exists  $(f_j) \in (p\mathfrak{A}p)^{n+1}$  such that  $\sum_{j=0}^n f_j a'_j = p$  and  $\|a_j - a'_j\| < \varepsilon$  ( $0 \leq j \leq n$ ). Hence  $p + \delta(\sum_{j=0}^n c_j c_j^* - CB^{-1}C^*)$  is invertible in  $p\mathfrak{A}p$  for

$$0 \leq \delta < 1 / \left( \left\| \sum_{j=0}^n c_j c_j^* \right\| + \|CB^{-1}C^*\| \right) < 1 / \left( \left\| \sum_{j=0}^n c_j c_j^* - CB^{-1}C^* \right\| \right).$$

Note that we use a standard fact that the elements which are near invertible elements are also invertible (or the elements which have the norm distance from the identity element less than one are invertible). We may assume  $\delta < 1$  in addition. Set

$$y_j = \begin{pmatrix} f_j & \delta c_j \\ \delta c_j^* & \delta b_j \end{pmatrix}, \quad x'_j = \begin{pmatrix} a'_j & c_j \\ c_j^* & b_j \end{pmatrix}$$

for  $0 \leq j \leq n$ . Set

$$\begin{aligned} \sum_{j=0}^n y_j x'_j &= \begin{pmatrix} \sum_{j=0}^n f_j a'_j + \delta \sum_{j=0}^n c_j c_j^* & \sum_{j=1}^n (f_j c_j + \delta c_j b_j) \\ \delta \sum_{j=1}^n (c_j^* a'_j + b_j c_j^*) & \delta (\sum_{j=1}^n b_j^2 + \sum_{j=1}^n c_j^* c_j) \end{pmatrix} \\ &\equiv \begin{pmatrix} A_\delta & C'_\delta \\ \delta C'' & \delta B \end{pmatrix}. \end{aligned}$$

Then it follows that  $\sum_{j=0}^n y_j x'_j$  is invertible in  $\mathfrak{A}$  by using the same matrix

decomposition (1) as in the first part of the proof and considering

$$A_\delta - \delta^2 C'_\delta B^{-1} C'' = p + \delta \left( \sum_{j=0}^n c_j c_j^* - \delta C'_\delta B^{-1} C'' \right)$$

since  $1/(\|\sum_{j=0}^n c_j c_j^*\| + \|C'_\delta B^{-1} C''\|) < 1/(\|\sum_{j=0}^n c_j c_j^* - \delta C'_\delta B^{-1} C''\|)$  and

$$\|C'_\delta B^{-1} C''\| \leq \|C'_\delta\| \|B^{-1} C''\| \leq \left( \sum_{j=0}^n (\|f_j c_j\| + \|c_j b_j\|) \right) \|B^{-1} C''\| \equiv K,$$

and so we may assume  $\delta < 1/(\|\sum_{j=0}^n c_j c_j^*\| + K)$ , from which it follows that  $A_\delta - \delta^2 C'_\delta B^{-1} C''$  is invertible in  $p\mathfrak{A}p$ , which implies the desired conclusion.

REMARK. It would be desirable to show the same estimate by replacing  $p$  with positive elements of  $\mathfrak{A}$ , that is, estimate by hereditary  $C^*$ -algebras. However, our method above would not work well in this case.

Theorem 1.1 is extended to the following:

THEOREM 1.2. *Let  $\mathfrak{A}$  be a  $C^*$ -algebra and  $p$  a projection of the multiplier algebra of  $\mathfrak{A}$ . Then*

$$\text{RR}(\mathfrak{A}) \leq \max\{\text{RR}(p\mathfrak{A}p), \text{RR}((1-p)\mathfrak{A}(1-p))\}.$$

PROOF. We just combine the proof of Theorem 1.1 with the method of the proof of [4, Theorem 2.5]. In fact, when  $\mathfrak{A}$  is non-unital and  $p \in \mathfrak{A}$  (or  $1-p \in \mathfrak{A}$ ) we consider the unitization  $\mathfrak{A}^+$  of  $\mathfrak{A}$ . Note that  $((1-p)\mathfrak{A}(1-p))^+ = (1-p)\mathfrak{A}(1-p) + \mathbf{C}(1-p)$ . When  $\mathfrak{A}$  is non-unital,  $p \notin \mathfrak{A}$  and  $1-p \notin \mathfrak{A}$  we consider self-adjoint elements of  $\mathfrak{A}^+$ :

$$x_j = \begin{pmatrix} a_j + \lambda_j & c_j \\ c_j^* & b_j + \lambda_j \end{pmatrix}$$

for  $0 \leq j \leq n$ .

Moreover, the following is obtained in exactly the same way as above:

COROLLARY 1.3. *Let  $\mathfrak{A}$  be a  $C^*$ -algebra and  $p$  a projection of the multiplier algebra of  $\mathfrak{A}$ . Then*

$$\text{sr}(\mathfrak{A}) \leq \max\{\text{sr}(p\mathfrak{A}p), \text{sr}((1-p)\mathfrak{A}(1-p))\}.$$

PROOF. We just consider elements of  $\mathfrak{A}$ :

$$x_j = \begin{pmatrix} a_j & c_j \\ d_j & b_j \end{pmatrix}$$

for  $1 \leq j \leq n$ , where  $a_j, b_j$  may not be self-adjoint.

REMARK. Blackadar’s conjecture [3, Conjecture 4.2.3] is the estimate  $\text{sr}(p\mathfrak{A}p) \geq \text{sr}(\mathfrak{A})$  for  $p$  a full projection of  $\mathfrak{A}$ . This is not the same as our result above, however it suggests that his conjecture should be true.

THEOREM 1.4. *Let  $\mathfrak{A}$  be a  $C^*$ -algebra and  $M_n(\mathfrak{A})$  the  $n \times n$  matrix algebra over  $\mathfrak{A}$ . Then*

$$\text{RR}(M_n(\mathfrak{A})) \leq \text{RR}(\mathfrak{A}).$$

PROOF. If  $n = 1$ , the equality is trivial.

Suppose that  $\mathfrak{A}$  is unital, and

$$\text{RR}(M_n(\mathfrak{A})) \leq \text{RR}(\mathfrak{A}).$$

Using Theorem 1.1 we obtain

$$\text{RR}(M_{n+1}(\mathfrak{A})) \leq \max\{\text{RR}(M_n(\mathfrak{A})), \text{RR}(\mathfrak{A})\}$$

since  $pM_{n+1}(\mathfrak{A})p = M_n(\mathfrak{A})$  and  $(1-p)M_{n+1}(\mathfrak{A})(1-p) = \mathfrak{A}$  for  $p$  a standard rank  $n$  projection of  $M_{n+1}(\mathbb{C})$  in  $M_{n+1}(\mathfrak{A})$ . Hence  $\text{RR}(M_{n+1}(\mathfrak{A})) \leq \text{RR}(\mathfrak{A})$ . By induction the proof is complete.

We may also apply Theorem 1.1 repeatedly for  $1 = p_1 + \dots + p_n \in M_n(\mathfrak{A})$  where  $p_j$  are standard rank 1 projections of  $M_n(\mathbb{C})$  in  $M_n(\mathfrak{A})$ .

If  $\mathfrak{A}$  is non-unital, we consider the following exact sequence:

$$0 \longrightarrow M_n(\mathfrak{A}) \longrightarrow M_n(\mathfrak{A}^+) \longrightarrow M_n(\mathbb{C}) \longrightarrow 0.$$

Then it follows from [5, Theorem 1.4] and the unital case above that

$$\text{RR}(M_n(\mathfrak{A})) \leq \text{RR}(M_n(\mathfrak{A}^+)) \leq \text{RR}(\mathfrak{A}^+) = \text{RR}(\mathfrak{A})$$

since  $M_n(\mathfrak{A})$  is a closed ideal of  $M_n(\mathfrak{A}^+)$ .

REMARK. It is known by [4, Theorem 2.10] if  $\text{RR}(\mathfrak{A}) = 0$  for a  $C^*$ -algebra  $\mathfrak{A}$ , then  $\text{RR}(M_n(\mathfrak{A})) = 0$  for every  $n$ . The estimate of Theorem 1.4 answers Osaka’s question [7, Question 1.11], which states whether the estimate of Theorem 1.4 is true or not.

In exactly the same way as above,

COROLLARY 1.5. *Let  $\mathfrak{A}$  be a  $C^*$ -algebra. Then*

$$\text{sr}(M_n(\mathfrak{A})) \leq \text{sr}(\mathfrak{A}).$$

PROOF. Use Corollary 1.3 and the argument of the proof of Theorem 1.4.

REMARK. It is known by [9, Theorem 6.1] that for any  $C^*$ -algebra  $\mathfrak{A}$ ,

$$\text{sr}(M_n(\mathfrak{A})) = \lceil (\text{sr}(\mathfrak{A}) - 1)/n \rceil + 1$$

where  $\lceil x \rceil$  is the least integer  $n$  with  $n \geq x$ . Also, by [1] we have

$$\text{RR}(M_n(C(X))) = \lceil \dim X / (2n - 1) \rceil$$

where  $C(X)$  is the  $C^*$ -algebra of continuous functions on a compact Hausdorff space  $X$ . Therefore,

$$\begin{cases} \text{sr}(M_n(\mathfrak{A})) \leq \text{sr}(\mathfrak{A}), \\ \text{RR}(M_n(C(X))) \leq \text{RR}(C(X)) = \dim X. \end{cases}$$

However, it has been unknown whether or not the real rank of  $M_n(\mathfrak{A})$  for a  $C^*$ -algebra  $\mathfrak{A}$  in general can be computed in terms of that of  $\mathfrak{A}$  as the commutative case or the stable rank case above. But we now have Theorem 1.4.

REMARK. For any  $C^*$ -algebra  $\mathfrak{A}$ , the following estimates:

$$\text{RR}(p\mathfrak{A}p) \leq \text{RR}(\mathfrak{A}), \quad \text{sr}(p\mathfrak{A}p) \leq \text{sr}(\mathfrak{A})$$

for  $p$  a projection of  $\mathfrak{A}$  are not correct in general. In fact, it is known by [1] and [9, Theorem 6.4] that

$$\text{RR}(\mathfrak{B} \otimes \mathbf{K}) \leq 1, \quad \text{sr}(\mathfrak{B} \otimes \mathbf{K}) \leq 2$$

for any  $C^*$ -algebra  $\mathfrak{B}$ , where  $\mathbf{K}$  is the  $C^*$ -algebra of compact operators. If the estimates by  $p\mathfrak{A}p$  above were correct, we must have

$$\text{RR}(\mathfrak{B}) \leq 1, \quad \text{sr}(\mathfrak{B}) \leq 2$$

since  $1 \otimes q(\mathfrak{B} \otimes \mathbf{K})1 \otimes q = \mathfrak{B}$  for  $q$  a standard rank 1 projection of  $\mathbf{K}$ , where  $\mathfrak{B}$  is unital. This is impossible in general. However, it is known by [4, Corollary 2.8] that if  $\text{RR}(\mathfrak{A}) = 0$  for a  $C^*$ -algebra  $\mathfrak{A}$ , then any hereditary  $C^*$ -subalgebra of  $\mathfrak{A}$  has real rank zero.

ACKNOWLEDGEMENT. The author would like to thank the referee for reading the manuscript carefully and making some corrections.

## REFERENCES

1. Beggs, E. J., and Evans, D. E., *The real rank of algebras of matrix valued functions*, Internat. J. Math. 2 (1991), 131–138.
2. Blackadar, B., *K-theory for Operator Algebras*, Second Edition, Cambridge, 1998.
3. Blackadar, B., *Comparison theory for simple  $C^*$ -algebras*, in *Operator Algebras and Applications*, London Math. Soc. Lecture Note Ser. 135 (1989), 21–54.
4. Brown, L. G., and Pedersen, G. K.,  *$C^*$ -algebras of real rank zero*, J. Funct. Anal. 99 (1991), 131–149.
5. Elhage Hassan, N., *Rang réel de certaines extensions*, Proc. Amer. Math. Soc. 123 (1995), 3067–3073.
6. Murphy, G. J.,  *$C^*$ -algebras and Operator theory*, Academic Press, 1990.
7. Osaka, H., *Non-commutative dimension for  $C^*$ -algebras*, Interdiscip. Inform. Sci. 9 (2003), 209–220.
8. Pedersen, G. K.,  *$C^*$ -Algebras and their Automorphism Groups*, Academic Press, 1979.
9. Rieffel, M. A., *Dimension and stable rank in the K-theory of  $C^*$ -algebras*, Proc. London Math. Soc. 46 (1983), 301–333.
10. Rørdam, M., Larsen, F., and Laustsen, N. J., *An Introduction to K-Theory for  $C^*$ -Algebras*, London Math. Soc. Stud. Texts 49 (2000).

DEPARTMENT OF MATHEMATICAL SCIENCES  
FACULTY OF SCIENCE, UNIVERSITY OF THE RYUKYUS  
NISHIHARA, OKINAWA 903-0213  
JAPAN  
*E-mail:* sudo@math.u-ryukyu.ac.jp